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Exercise

1. If A={2,4,6,8}then

A. 

B. b)

C. c)

D. d)

Answer:

W t h Vid S l ti

{2, 4} ∈ A

{2, 4} ⊆ A

{2, 4} ∈ A

{2, 4} ∈ Ac

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_K78dYfyjvaXG


Watch Video Solution

2. and then 

A. a)7

B. b)1/7

C. c)7/4

D. d)4/7

Answer:

Watch Video Solution

tan α =
3

4
α + β = 45∘ tan β =

3. If ,then the value of is

A. a)1

B. b)-1

C. c)i

Z =
√3 + i

2
z69

https://dl.doubtnut.com/l/_K78dYfyjvaXG
https://dl.doubtnut.com/l/_zgxbXmm9FbA1
https://dl.doubtnut.com/l/_AJLaKulcYISx


D. d)-i

Answer:

Watch Video Solution

4. if^nC_r+ ^(n+1)c_x`then the value of x is

A. a)r

B. b)r+1

C. c)r-1

D. d)n

Answer:

Watch Video Solution

^ nCr+ 1 =

5. If a,b,c are in A.P .then , and are in3a 3b 3c

https://dl.doubtnut.com/l/_AJLaKulcYISx
https://dl.doubtnut.com/l/_TDriOxrQwCya
https://dl.doubtnut.com/l/_Z7cPLKSKKqJP


A. a)A.P

B. b)G.P

C. c)both A.P and G.P

D. d)none of these.

Answer:

Watch Video Solution

6. If the slope of the line joining the points and be -3

then the value of  is

A. a)1/3

B. b)2/3

C. c)3/2

D. d)4/3

Answer:

(3λ, 4) (4, − 3λ)

λ

https://dl.doubtnut.com/l/_Z7cPLKSKKqJP
https://dl.doubtnut.com/l/_uZ3txrMOQRQw


Watch Video Solution

7. If ,then find the value of  and 

A. a) ,

B. b) ,

C. c) ,

D. d)none of these.

Answer:

Watch Video Solution

lim
x → 3

= 12
αx2 − β

x − 3
α β

α = 1 β = 2

α = 2 β = 9

α = 2 β = 18

8. For any three sets A,B and C,if and 

then show that A=B.

Watch Video Solution

A ∩ C = B ∩ C A ∩ C c = B ∩ C c

https://dl.doubtnut.com/l/_uZ3txrMOQRQw
https://dl.doubtnut.com/l/_CFWYYUBS4lQL
https://dl.doubtnut.com/l/_OiEZoJW7OAm7
https://dl.doubtnut.com/l/_D7rYbSX3PqLd


9. If then show that f(a)+f(b)=f(a+b).

Watch Video Solution

f(x) = a + b.
x − b

a − b

x − a

b − a

10. Prove that (1+sec2A)(1+sec2^2A)(1+sec2^3A).....(1+sec2^nA)=

(tan2^nA)/(tanA)`

Watch Video Solution

11. Prove that ,

Watch Video Solution

tan(α + β)tan(α − β) =
sin2 α − sin2 β

cos2 α − sin2 β

12. How many 5 digit numbers can be formed using the digits 0,2,5,6,7

without repeating the digits?

Watch Video Solution

https://dl.doubtnut.com/l/_D7rYbSX3PqLd
https://dl.doubtnut.com/l/_FqHCkmr0Zus9
https://dl.doubtnut.com/l/_nn7WprlrC4Hk
https://dl.doubtnut.com/l/_aGIdXHXPGAHh
https://dl.doubtnut.com/l/_2zYUJccfmbUp


13. Show that , is a real number.

Watch Video Solution

( )
2

+ ( )
21 + i

1 − i

1 − i

1 + i

14. Find the distance between the lines 3x+4y=9 and 6x+8y+15=0.

Watch Video Solution

15. Find the value of :

Watch Video Solution

lim
x → 0

sin 2x + sin 6x

sin 5x − sin 3x

16. In an examination 60% passed in mathematics,68% passes in statistics

and 52% passed in both the subjects.If 42 candidates failed in both the

subjects,then find the total no.of candidates,appeard in the

examinations(Using the concept of set).

Watch Video Solution

https://dl.doubtnut.com/l/_2zYUJccfmbUp
https://dl.doubtnut.com/l/_Cdv5DTxpRDyT
https://dl.doubtnut.com/l/_xtqpXjS1smR4
https://dl.doubtnut.com/l/_oUv9xKpcKwl6


17. If and ,then show

that 

Watch Video Solution

α ≠ β a tan α + b tan β = (a + b)tan( )
α + β

2

=
cos α

cos β

a

b

18. For any three sets A,Band C show that :

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

19. Prove using principle of mathematical induction that sum of the cube

three consecutive natural number is divisible by 9.

Watch Video Solution

20. If w be a imaginary cube root of uniyt and a+b+c=0 then show that

(a + bw + cw2)
3

+ (a + bw2 + cw)
3

= 27abc

https://dl.doubtnut.com/l/_loHwxMNILlqY
https://dl.doubtnut.com/l/_DGp42GaUV1Rn
https://dl.doubtnut.com/l/_KLk4xKo0zr6D
https://dl.doubtnut.com/l/_vjiWvt3RbeaU


Watch Video Solution

21. Find the sum upto n terms of the following series 4+44+444+….n.

Watch Video Solution

22. Show that the straight lines 5x-y=6,x+5y-22=0,5x-y-32=0 and x+5y+4=0

form a square.

Watch Video Solution

23. Find the value of :

Watch Video Solution

lim
x → a

x sin a − a sin x

x − a

24. Prove that :cot(A-B)cot(B-c)+cot(B-c)cot(C-A)+cot(A-B)cot(B-C)=1

Watch Video Solution

https://dl.doubtnut.com/l/_vjiWvt3RbeaU
https://dl.doubtnut.com/l/_rnlMtRfPdtJL
https://dl.doubtnut.com/l/_jZ7JWqMIgYGY
https://dl.doubtnut.com/l/_nUFIqtlmywqi
https://dl.doubtnut.com/l/_W51bdY4oKyae


25. Provethat:

Watch Video Solution

+ + = (cos ec2θ − cos ec8θ)
cos 3θ

sin 2θ sin 4θ

cos 5θ

sin 4θ sin 6θ

cos 7θ

sin 6θ sin 8θ

1

2 sin θ

26. Two parallel straight lines contains 5 points and 10 points

respectively.How many triangles can be formed using these points as the

vertices of the triangles?

Watch Video Solution

27. Find the sum of the following series (1)+(2+3)+(4+5+6)+(7+8+9+10)+…

to n terms.

Watch Video Solution

https://dl.doubtnut.com/l/_W51bdY4oKyae
https://dl.doubtnut.com/l/_EmAZ57R8LSxP
https://dl.doubtnut.com/l/_kYRu7EkkxpFa
https://dl.doubtnut.com/l/_fjQ114Jr2By5


28. If ab+bc+ca=0 then prove that the straight lines

x/a+y/b=1/c,x/b+y/c=1/aand x/c+y/a=1/b are concurrent.

Watch Video Solution

29. Evaluate 

Watch Video Solution

lim
x → π / 4

4√2 − (cos x + sin x)
5

1 − sin 2x

https://dl.doubtnut.com/l/_NQ5TdjQJnIMq
https://dl.doubtnut.com/l/_4wZRPaTpyuiK

